Matricula (First-name Last-name) CK0031/0K0248: Homework B

Exercise A.1. Consider a state-space in which the starting state is number 1 and each state n
has two siblings, the numbers 2n and 2n + 1. Suppose the goal-state is number 11.

(1) Draw the portion of the state-space for states 1 to 15;
(2) Show the evolution of the states that will be visited by a breadth-first search algorithm;

(3) Show the evolution of the states that will be visited by a depth-first search algorithm.

Exercise A.2. Trace the operations of the search algorithms listed below when they are applied
to the problem of getting from Oradea to Bucharest (see next page). Show the sequence of nodes
that the algorithms will consider and the f, g, and h score for each node, whenever appropriate.

(1) Uniform-cost search;
(2) Greedy best-first search;

(3) A* search, using the straight-line heuristic.
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